| ®m-sm

7 %E-38

8 -

N

LMOFE £5IE RERPERMREHREAE F£78EHHEABRPERNL-—F-LK2

(B ¥
I BA(7/15) 2HE(7/20) 3BE(7/21) 2HE(7/20) 1 BE(7/15)|
M & =
[25—23] [2543]
2| 25-117] 0 2| 25-14] 0
L] i i BERR
[27—25] [25—2(j
2| 22-25]| 1 2 17-25] 1
25-22 25-2|
KRB ELR
[2'7-25] [25-22]
2| 25-21|o 2 25-12| 0
- ﬁ - .
BR ] = 7
25-23 Ll 32-30
2|25-210 2| 23-25| 1
- ; 25-5
FR [23-25] th [254?] Zh=
2| 25-23] | = 2| 25-17| o
25-23 ¥ -

ﬂ -
f2h— =
31-29 23-25
2|25-17]0 1 225-21

- )| Lfaatele | e
R R - ) BURAET
[25-|4j [25-|¢j
2| 25-19] 0 2| 25-20| o
HT % ) ) 21514
[25-23] [25-|:j
2| 25-23| 0 2| 18-25| 1
- 25-16
h2 k]
[25-|ij [25-|:j
2| 25-20| o 2| 25-20| o
) BIRFRER )
fER R
[zs-lj [I 3-25]
2| 25-22] 0 2| 25-19| 1
N 25-21 25-2|
2|25-15]0
1E2F 25-14 . 25-17 At
2| 25-18] 0 2| 21-25| 1
- ﬁ "E 25-9
| R 4 I
XFFZDERHIHARKESHIE
IBE(7/15) 8:45038 % | A% 10:00 HUFILEVIAHL 28 PR AL R P F AR
WEHNRRR—YtE>9— ABaI-—F 21k = U477 32 B SER op AR
WMERFEITY)—->7Y—F GHaA—F} 3t = EET I E AP ER
288(7/20) 84505 % | HAME 10:00 MEREWRS . BRA SRR
WEHRRR—YE>9— ABaI—F B [ 7 3L 7 P AR
WEXRFEIT)—>T7Y—F G,Ha—+ St e T L Emp 2R
3BE(7/21) 8:45035 % | AAMHE 10:00 MUEFILEVIAL =W 3L & A R R
WEHZRRKR=Y 29— Aa—F} A B L EFARET AR

- s 13

T

PR 16

P

T

- 38 20

wE-ary 21

g 22

miE 24



